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ESR S TR = 1 =i Q1 IV NI )
By 3% AFI07T4£02 504 H eI Dt e/ 69 ko (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]
OB B 5. 00| FH%} 10 50| 3,024| 2,527 1, 080
B 32 KW 15. 00| FA % 1,232 18,480 3,024| 2,538 1, 253
& o | 1500 Rt 7| 2,655\ 2,376| 1,802] 540
X D O 12. 00| #85f 165 1,980 2,646| 2,265| 1,539
FONAE M5 4. 00| ¥t 16 64 2, 484
H % i 3. 00| FHxf 252 756| 2,484| 1,454 1,188
H A ] 1L 1. 00| FHxf 225 225| 1,620 1,324 486
ENIE so0l fst| 6] 30| 3,240 3,042| 2,700
A w5 2. 00 | FH %} 125 250 1,188| 1,115 864
= w5 4. 00| FH%f 241 964| 1,512 1,293 972
[ I\ w5 5. 00| FH%f 482 2,410 2,484| 2,322 1,782
~7 h< | F ) 3. 00| FHxf 28 84 1, 620
IR Ak L 2. 00| FHxf 10 20| 3,024| 2,916| 2,808
H 7% (= 5. 00 | FHx%f 110 550| 1,620| 1,591| 1,512
B ¥ = 10. 00 | #H % 215 2,150 5,400| 3,340| 3,240
ES AL E 20. 00 | AH%t 25 500 3, 240
& @ | 10,00 fEk| 19| 1,190| 4,320 2,392| 1,944
L&A O 10. 00 | #856f 401 4,010 3,888| 2,916| 1,512
Y=L X R f& [l 4. 00| AH%F 534 2,136 2,700 1,967| 1,512
Tayal— (r— 6. 00 | FH%f 175 1,050 5,076| 4,299| 2,484
B oW | 6.00| #Exf| 130 780 4,320 3,856| 3,240
AEMEE w5 0. 10| #Hf | 3,300 330 205 133 65
ZDXH E % 0. 20 | FHx} 2,100 420 86 79 70
LU E % 0. 20 | FHx} 300 60 92
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2 W B #E7E Boal R
Rz AFI07T4:02 H 04 H EFER S 29 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

38 Foak L 10. 00 | #H%f 837 8,370| 6,588| 5,419 3,564
LEV T AU K | 17.00| FHxF 115 1,955| 8,856| 8,175 7,560
Avara 74 V¥ | 13.00] fH%E 12 156 2,862 2,727 2,700
bHFEED @ [ 0. 27| FHxf 980 264 702 651 486
S X EF I 0. 25| A%} 3, 322 834 518 450 270
BHDY S 5 0. 25| FA%f 1,038 261 497 425 292




